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DIRECTIONS TO CANDIDATES

Attempt ALL questions.
Answer EITHER in English OR in Modern Hebrew, unless indicated otherwise.
Answer each Section in a SEPARATE Writing Booklet.

Your attention is drawn to the fact that the Divine Name is spelt in full in Biblical texts
contained in this examination paper. If this is a matter of conscience for you, you should not
discard the paper.



SECTION I—BIBLE WITH COMMENTARY Marks
(20 Marks)

Answer this Section in a SEPARATE Writing Booklet.

QUESTION 1 (9 marks)
Read the passage below, then answer the questions on the following page.

Numbers 23: 17-28
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QUESTION 1 (Continued)

(a)

(b)

(©

(d)

(e)

Rashi notes that the wording 71]& 3\?51?3 ’7@7 (verse 17) is different from

parallel phrasing in verse 6.

What is the difference and what significance did Rashi attach to it?

(i) What difficulty did Rashi see in Balak’s question iT)T 7127 71i2?

(Verse 17)

(i) What was Rashi’s conclusion about the question?

According to Rashi (in verse 18) how did Balaam respond to Balak’s question?

(Verse 17)

Explain the phrase (verse 21) EPSJ’D ]12‘3 D’;ﬂ_&i? according to the

Midrash cited by Rashi.

According to Rashi why did Balak bring Balaam to WTDDU WURT? (Verse 28)
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QUESTION 2 (11 marks) Marks

Read the passage below, then answer the questions on the following page.

Numbers 24: 5-21
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QUESTION 2 (Continued)

(a)

(b)

(©

(d)

(e)

®

€]

According to Rashi, what did Balaam see when he uttered the words

20D TOTR 12D (Verse 5)

(i) What alternative meanings did Rashi give for the word D’5UN:‘7

(Verse 6)

(i)) From what did he derive his second interpretation?

What valuable piece of advice did Balaam give Balak? How did Rashi prove that

Balaam instigated this advice?

What will Balaam see, according to Rashi’s commentary on the word "l]\&j&

and when will this happen? (Verse 17)

According to verse 19 Balaam stated 7213 'f’jfé? TN What did Rashi

comment about Balaam’s statement?
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What explanation did Rashi give for the phrases PB@SJ_N& \&T] and
TRTTIR N

According to Rashi why was Amalek called \D’_jﬂ WEZ_?&'}_?
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SECTION II—LANGUAGE SKILLS Marks

(10 Marks)
Answer this Section in a SEPARATE Writing Booklet.

QUESTION 3 (10 marks)
Read the passage below, then answer the questions that follow.
Jeremiah 39: 1-14
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QUESTION 3 (Continued) Marks
(a) (1)  Who, according to verses 1, 2 and 3, came to Jerusalem? Give details. 3
(i) For what reason did they come?

(iii)  When did they come?

(b) What was the reaction of the Judaean King and his army when they saw the 1
enemy?
(c) (1) Give the singular form of each of the following: 3

1 D’QDHU (verse 4);
2 D120 (verse 10).

(i) Parse EITHER the first OR the third verb in verse 12.
ie EITHER %772 OR WA

(d) What did the Chaldeans do to the city of Jerusalem and its people? 1

(e) (1) How were the poor treated by the Chaldeans? 2

(1) What did they do with Jeremiah?

Please turn over
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SECTION III—HISTORY Marks
(10 Marks)

Answer this Section in a SEPARATE Writing Booklet.

QUESTION 4 (10 marks) 10
EITHER

(a)  Write short notes on five of the following and their relevance to the study of the
descent into Egypt and the Exodus.

(1) Hyksos
(i1)) Amarna tablets
(iii) Pithom and Raameses
(iv) The Mernephtah Stele
(v) The fall of Jericho
(vi) The ruins of Ai
OR

(b) Give an account of the relationship between Israel and Judah throughout the
Omride dynasty.

Please turn over
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SECTION IV—MISHNA AND ITS EXTENSIONS
(10 Marks)

Answer this Section in a SEPARATE Writing Booklet.

QUESTION 5 (10 marks)

Read the passage below, then answer, in ENGLISH, the questions on page 12.
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Question 5 continues on page 11
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QUESTION 5 (Continued)

11
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Question 5 continues on page 12
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QUESTION 5 (Continued) Marks
(a) (1) The Gemara opens with the phrase XNQDU *XN. What does the phrase 3
mean?
(i) To what does the phrase relate?
(i) How does the Gemara respond to XRNDU "XN?

(b) The Mishna refers to cutting the shofar in a way that is 1J277TR 710X, and in 2
a way thatis X1 71XTR 710X, When, according to the Gemara, is cutting a
shofar 11377TNR 710X and when is it X [1M7IXTR 710KX?

(c) The Mishna permits pouring water or wine into the shofar. The Gemara states 1
that this follows the practice of Aba Shaul. What does Abba Shaul say in the
Gemara?

(d) The Mishna permits children, but not women, to blow the Shofar? Why are 2
women not permitted to blow?

() The Tanna in the Mishna permits blowing the shofar with children to encourage 1
them to learn how to blow. How does the Gemara extend this concession?

(f) The following words convey precise details for finding a passage in the Talmud. 1

What are the details? X”D ,2"2 T P79 ;110N PR 1200,

End of paper
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